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Question Number : 1 Question Id : 36496352977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): A child's development progress can be accurately measured by comparing her rate

of development with the other children of some age.

Reason (R): Pattern and the rate of development of children is uniform and remains some for all

children across cultures.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false

4. Both (A) and (R) are false

Question Number : 1 Question Id : 36496352977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496352978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child learns to hop and jump before learning to play football. Which principal of development

does this illustrate?
Options :

1. Cephalocaudal
2. Pronimodistal

3. Reversibility

4. Equilibration

Question Number : 2 Question Id : 36496352978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496352979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about development is NOT correct?
Options:

1. Development is a product of heredity and environment.

2. Development is somewhat predictable.

3. Rate of development is uniform and universal.

4. Development proceeds from general to specific.

Question Number : 3 Question Id : 36496352979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496352980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Children pick up ways of behaving appropriately as per their culture from their

friends media and various other source.

Reason (R) : socialization is a complex process that takes place through various formal and

informal means.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 4 Question Id : 36496352980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496352981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For children who are in concrete operational stage teachers should -

Options :

1. Gove a lot of practice to deal with abstract concepts

2. Provide opportunities to classify objects and ideas on increasingly complex levels
3. Present problems that require higher order abstract thinking

4. Give problems that require logical and scientific thinking

Question Number : 5 Question Id : 36496352981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496352982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage of cognitive development does the child understand that

symbols can be used to represent objects - 'bicycle’ will generate an image even when absent?
Options :

1. Pre-conventional stage

2. Pre-operational Stage

3. Concrete operational Stage

4. Formal operational Stage

Question Number : 6 Question Id : 36496352982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496352983 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aanav struggles with addition of three digit numbers on his own but is able to do so with support



from the teacher. In Lev Vygotsky's theory, this highlights -
Options:

1. Zone of proximal development

2. Reinforcement

3. Maturation

4. Symbolism

Question Number : 7 Question Id : 36496352983 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Is
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Question Number : 8 Question Id : 36496352984 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky learning is -
Options :

1. An active process of constructing knowledge
2. A passive process of reception of knowledge

3. A function of drill and practice

: MCQ Option Shuffling : Yes Is



4. A function of stimulus-response associations

Question Number : 8 Question Id : 36496352984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496352985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aashna does good because she would like to be seen as good by other people . At which stage of

moral development is she according to Lawrence Kohlberg?
Options :

1. Pre-conventional

2. Conventional

3. Post-conventional

4. Formal Operational

Question Number : 9 Question Id : 36496352985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496352986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In progressive education -

Options :

1. learning has a social character.

2. textbooks are the only source of knowledge.
3. seating arrangement is totally fixed.

4. curriculum is standardized.

Question Number : 10 Question Id : 36496352986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496352987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 emphasises on -

Options :

1. flexible multi-level activity based learning.

2. only the aspects related to cognitive development of children.
3. standardization of a national curriculum.

4. measurement of memorization abilities of children.

Question Number : 11 Question Id : 36496352987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496352988 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following description fits the 'Inter-personal intelligence' proposed by Howard

Gardner?

Options :

1. Sensitivity to spoken and written language

2. Sensitivity to rhythm and sounds

3. Capacity to understand the intentions and desires of others

4. Capacity to understand on self

Question Number : 12 Question Id : 36496352988 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496352989 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
plays an important role in Vygotskian constructivism.
Options :
1. Language
2. Maturation
3. Development of schemas

4. Rewards and Punishment

Question Number : 13 Question Id : 36496352989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496352990 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following tools should a teacher use to assess children's learning?

(i) Classroom interaction



(ii) Projects
(iii) Portfolios

(iv) self-assessment
Options :

1. (ii) and (iii)

2. (ii),(iii) and (iv)

3. (i), (ii), (iii) and (iv)
4. (i), (ii) and (iii)

Question Number : 14 Question Id : 36496352990 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496352991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The purpose of assessment as per the National Education Policy 2020 is to provide information on

Options :

1. how to support the students in and out of the classroom.

2. comparison of the students performance with her classmates.

3. the gaps and deficiencies in student learning to accurately identify her failure.

4. memorization capacities of the student.

Question Number : 15 Question Id : 36496352991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496352992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice is a barrier to inclusion?
Options:

1. Classroom discipline is based on mutual respect for each other.



2. Content is designed to meet needs of few students only.
3. Pedagogy encourages participation of all students.

4. Students are supported to meet individual goals of learning.

Question Number : 16 Question Id : 36496352992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496352993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following creates barrier to inclusion of students from marginalized groups?

Options :

1. Access to Educational spaces
2. Equity in rights

3. Opportunity to participate

4. Social Stigma

Question Number : 17 Question Id : 36496352993 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FefefEs & & S 2113 o Toa o (= Bt STt e o el S T 27

Options :

3. T & 3T ST

£ o
4. HTHTISTeh dlqehli

Question Number : 18 Question Id : 36496352994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following learning disability directly affects the ability to write coherently?
Options :

1. Dyscalculia

2. Dysgraphia

3. Dyslexia

4. Dyspraxia

Question Number : 18 Question Id : 36496352994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496352995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice will hinder the successful inclusion of 'auditory learners'?
Options:

1. Allow students to think aloud to themselves.

2. Give students written rather than oral tests.

3. Place assignment directions on tape to use later.

4. Provide verbal instructions for assignments.

Question Number : 19 Question Id : 36496352995 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496352996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic of a student with giftedness?
Options :

1. Slow comprehension

2. Lack of curiosity

3. Need for precision in thinking

4. Tendency of opting for easy tasks

Question Number : 20 Question Id : 36496352996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496352997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher wants to facilitate comprehension skills among her students. Which of the following

should be avoided by her for this purpose?
Options :

1. Concept mapping

2. Decontextualising

3. Outlining

4. Summarizing

Question Number : 21 Question Id : 36496352997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496352998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To facilitate students' learning of a concept, a teacher should -
Options :

1. avoid making connections between new information and previous knowledge.



2. focus on understanding the rules and defining attributes of the concept.
3. mix essential and non-essential information related to content to be taught.

4. present material and information in highly abstract and complex form.

Question Number : 22 Question Id : 36496352998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496352999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following factors is not responsible for students' failure in academic performance?
Options :

1. Boredom

2. Stress

3. Curiosity

4. Fear

Question Number : 23 Question Id : 36496352999 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496353000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching a concept, a teacher is giving an example that has the most important "core"

features of the category associated with that concept Such an example is called -
Options :

1. a misconception.

2. a non-exemplar.

3. a prototype.

4. an expectation.

Question Number : 24 Question Id : 36496353000 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496353001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

By encouraging students to reflect on their cognitive abilities to reach a specified goal, a teacher is

facilitating the development of:
Options:

1. Declarative knowledge

2. Procedural knowledge

3. Meta-cognition

4. Rote-memorisation

Question Number : 25 Question Id : 36496353001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496353002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While conceptualising teaching - learning process, National curriculum framework (2005)

emphasizes upon the importance of -
Options :

1. active engagement and interactions.
2. drill and repeated practice.

3. rote-memorisation of content.

4. stimulus-response associations.

Question Number : 26 Question Id : 36496353002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496353003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To scaffold students in solving a problem, a teacher should -
Options :

1. confuse students by highlighting extraneous information.
2. directly tell the answer to students and ask them to copy it.
3. give cues that activities the relevant schemas.

4. split the information in disconnected chunks.

Question Number : 27 Question Id : 36496353003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496353004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): During teaching-learning process, a teacher should give opportunities to students

for sharing their misconceptions and alternative conceptions.



Reason ( R): Misconceptions and alternative conceptions are always baseless and are insignificant

in process of learning.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 28 Question Id : 36496353004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496353005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Learned helplessness occurs when a student believes that:
Options:

1. ability is improvable and focus is on mastery goals.

2. efforts impact ability and focus is on performance goals.
3. the outcomes of academic activities are controllable.

4. the outcomes of academic activities are uncontrollable.

Question Number : 29 Question Id : 36496353005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496353006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of intrinsic motivation?
Options :

1. Studying to avoid the punishment by parent

2. Studying due to interest in an activity



3. Studying to receive the praise of teacher

4. Studying to win a competition

Question Number : 30 Question Id : 36496353006 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 36496353007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Raghav has only %5 and Z10 coins with him. If total number of coins he has is 30 and the amount of money with him is
2195, then the number of 25 and Z10 coins with him are:

Options :

1. 25 and 5. respectively
5 21 and 9 respectively
3. 20 and 10, respectively

4. 15 and 1S respectively

Question Number : 31 Question Id : 36496353007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T 3 0T 9 5 10 3 T | 97 00 W e 1 35 T 30 % 402195 1 e 1 2, 1 99

T 35 210 7 T 3 He A 2
Options :

1 25375

, 2139

3 20 X 10

4 15315



Question Number : 32 Question Id : 36496353008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Naresh is a visually challenged student of his class. He identifies and count edges, corners and faces of various three
dimensional (3D) shapes by touching them. How many edges, corners and faces will he identify in a triangular prism?

Options:
1 Edges = 6. Corners = 8, Faces= 6

2 Edges =9, Corners = 6, Faces= 3
3 Edges =4, Corners = 4, Faces=4

4. Edges = 6, Corners = 4, Faces= 5

Question Number : 32 Question Id : 36496353008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

O TR el 1 T AT e 2| T P-STTT (3 ) TR 61 . 379 o, A 7T e
T AR T 2| Uﬁﬁﬂ‘!ﬁr{g\. TSR 3 o T, T % ek 2

Options :

=6, 7" =8, FAF =6

1.



Question Number : 33 Question Id : 36496353009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the area of a rectangle whose length is 122cm and breadth 55cm?

Options :
1. 354 5q. cm
2. 6710 s5q. cm

3. 6715 s5q. cm

4. 6810 5q. cm

Question Number : 33 Question Id : 36496353009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
I I F1 % 47 2, Torehl 918 122 cm 3R =R 55 cm 22

Options :

1. 3543 cm
5 67103 cm
3 67153 cm

4. 6810 T cm



Question Number : 34 Question Id : 36496353010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rehnuma makes different polygons using matchsticks and measure their interior angles with the help of a protractor.
She makes a triangle with three matchsticks and adds one more to make a quadrilateral. Then she adds one more
matchstick fo make a pentagon and so on. Which of the following statements s correct about the angles of these shapes?

Options :

1. The sum of all the interior angles of any polygon is 360°.
5 The sum of all the interior angles of a quadrilateral is three times of the sum of all the interior angles of triangle.
3. When the numbers of side increases, the sum of the measures of interior angles of a polygon also increases.

4. When the numbers of sides increases sum of the measures of interior angles of a polygon also decreases.

Question Number : 34 Question Id : 36496353010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR AT 1 TR § (ot A 3T € (protractor) 1 e 36 40T 31 410 21
A e, o e o e 8 e e
TR, I T A A R T A A Y

Options :

1 feret +ff St 3 ST I0 1 AT 360° FAT 2
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Question Number : 35 Question Id : 36496353011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ am greater than half of 100. I am more than 5 tens and less than 6 tens. My ones digit is three less then tens’ digit. Who
am1?

Options :
1

N

1.

N
N
I

w
Ln
[#a]

>
L]
o

Question Number : 35 Question Id : 36496353011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

it 35 oo & arTfirn

T T 388 | AT SR T R W FA T
I TS T 3 GETE % I I A1 F 2
LEIER Y

Options:

I

h

1.

[

w
Lh
(#a]

>
Lh
WO



Question Number : 36 Question Id : 36496353012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What distance will Sadiq travel if he takes five rounds of a rectangular park whose length and breadth are 60 metres and
40 metres, respectively?

Options:
1. 200 m
2. Lkm

3. 2km 400 m

4. 2km200m

Question Number : 36 Question Id : 36496353012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e T TR 0T, [ M|£60Wﬁﬁ€_l§40ﬁm%ﬁﬁﬁﬂﬂmwnﬁf&mﬂEjrﬁ'qqn“w?
Options:

1. 200 m.

> 1 km.

3. 2 km. 400 m.

4. 2 km. 200 m.



Question Number : 37 Question Id : 36496353013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rani’s school is at a distance of 6km 375m from her house. She travels 1km 95m on foot and the rest by bus. How much
distance does she travel by bus?

Options :
1. Skm 625m
2. Skm 280m

3. 4km 625m

4. 4km 425m

Question Number : 37 Question Id : 36496353013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wﬂﬁﬁﬁ%ﬂ?ﬁ(ﬁ km. 375 tn.ﬁﬁjﬂ?%l%l k. 95 m, Te71 SR T F TR SO A E T
7§ o 4t 7 e

Options :

1. 5 km. 625 m.
2 5 km. 280 m.
3. 4 km. 625 m.

4. 4km. 425 m.

Question Number : 38 Question Id : 36496353014 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the side of a square is halved, the perimeter of the square so obtained will be  and the areawillbe
Options :
1. halved, halved

2. halved. one-fourth
3. one-fourth, halved

4. one-fourth, one-fourth

Question Number : 38 Question Id : 36496353014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e R T T A AT e T, 5 T R ¢ 7 e Y |

Options :

| T, AT

, ATHT, TS

, TE-ETE, ST

4. Uxﬁa‘ma ﬂﬁq“.ﬁﬁﬂé

Question Number : 39 Question Id : 36496353015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



" 1 ; " : :
A truck travels 120km in 2 - hours. How much time is required to cover 80km with same speed?
2

Options :

1. 1 hour 20 minutes
2. 1 hour 30 minutes
3. 1 hour 40 minutes

4. 1 hour 50 minutes

Question Number : 39 Question Id : 36496353015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1 e 3 X - AP i N
“?5?*'?25 T2 % 120 km a;&awm%l TA =1 7 80 km aﬁrajawwq;ammww

Options:

1 172120 e
5 172130 e

3 1 52T 40 o2

4. 1 72T 50 e

Question Number : 40 Question Id : 36496353016 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One fifth of the flowers in a bouquet are roses. Half of the flowers are lily and the remaining are orchid. If the numbers
of roses is eight; how many orchids are there in the bouquet?



Options :
1. 10

Question Number : 40 Question Id : 36496353016 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

wwmwwwmwﬁww I 2| e 3 e o T A & o 71 AT
w%m&wmw:ﬁw T, aﬁwﬁsqmar’mm?”

Options:
1. 10

Question Number : 41 Question Id : 36496353017 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Observe the above pattern and identify the next term:-

237 10,3257,
Options :
1. 76

Question Number : 41 Question Id

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3 =2+12
7 =3+22
16 =7+ 3
FTAT UG UE=ITT0;
230 16: 32, 57

Options :
7. 76

2. 85

: 36496353017 Question Type : MCQ Option Shuffling : Yes



Question Number : 42 Question Id : 36496353018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Bhanu is a junk seller (Kabadiwala) who collect junk as per the rate List given below:

Junk Price of 1kg
Waste Paper 212
Newspaper 4
Iron 327350
Brass 3225
Plastic 338

How much money will he pay if he collects 5 kg of iron, 10kg of plastic, 50kg of waste paper, 22kg of newspaper, and
2kg of brass?

Options :
1. T 1645.00

2. ¥ 1825.00

4. % 1875.50

Question Number : 42 Question Id : 36496353018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T O AT 2, 9 fer o o o e g e 2

LIRS 4 (LKg )

| @@ 22
), WEER 4
3, 7 22750
4, e 205
S wRE 38

Te T S kg TR, 10 ko T, 50 kg T, 22 kg SRGaR 30 2 kg W 31 e £ 21 2 fored
R ST )
Options :
1. 21645.00

5 ¥1825.00
3. 2345.00

4. X1875.50

Question Number : 43 Question Id : 36496353019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following group of number has least prime numbers?
Options :
1. From 20 to 40

2. From 30 to 50

3. From 40 to 60



4, From 60 to 80

Question Number : 43 Question Id : 36496353019 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e=fetEd 5 & e wEameti = HHH\E"& HIH T ITHST HEI 8

Options :

1 20940 TF
5, 30|50 TF
3 40 F 60 TF

4 60T 80T

Question Number : 44 Question Id : 36496353020 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9.2x4.9%3.1

Which one of the following is the best approximation of = DeRTas

Options:
OX4xX3
1. G2

G b 3
I .

S b 3
3. B3



9x4x3
4 Hx3

Question Number : 44 Question Id : 36496353020 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.. 9:2X4.9x3.1 R - .
FfafEa g ® T TEE AT HTh0T FI-9T 29
5.06x2.84

Options :
9X4X3
1. X2

9X5X3
-

9X5X3
3. bB¥X3

9X4X3
4 HX3

Question Number : 45 Question Id : 36496353021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the following:

(A) (B)

Digit at tens place is half of the 652842
digit at thousands place.
Digit at ones place is two third of 858335
the digit at the lakhs place.
Digit at hundreds place is double 658324
of the digit at tens place.
Digit at thousands place is the 852312
sum of the digit at ones and tens
place.

Options :

1 (1) - (d). (11) - (¢). (1i1) - (a). (iv) - (b)

3 (1) - (b), (i1) - (c). (1ii) - (a), (Iv) - (d)

3 (1) - (d), (i) - (@), (iii) - (¢), (iv) - (b)

4. (1) - (c), (11) - (b), (1i1) - (d), (iv) - (a)

Question Number : 45 Question Id : 36496353021 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e s e T
@ @
i, TETE T O TR ¥ 3 B TR a) 652842
ii. TS T AF GG F AF F AT E b) 858335
iii. TS T e TS o LTS ¢) 658324

lv. ESRE AHTHEE ARTEEF AR FATE  d) 852312
Options :
1 (D-(d), (iD)-(c), (iii)-(a), (iv)-(b)

5. (D)-(b), (ii)-(c), (iii)-(a), (iv)-(d)



5. (D-(d), (ii)-(a), (iii)-(e), (iv)-(b)

Question Number : 46 Question Id : 36496353022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following activities is best suited for the development of spatial understanding among primary grade
learners?

Options:

1. Representing numbers on a number line
o Drawing a map of their homes showing relative sizes and positions of rooms
3 Measuring the distance between two cities on a map

4 Recalling the names of geometrical figures

Question Number : 46 Question Id : 36496353022 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
et Tt B & A8 T4 Toe T 3 SHeAeaten] 1 e SIR WaiTem 7 o 19T o (o0 e
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Options :
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Question Number : 47 Question Id : 36496353023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per NCERT, which of the following is NOT one of the expected learning outcomes from grade I1I learners?

Options :

1. What is the place value of 4 in 5437

o Identify the next shape in a given pattern of shapes.

+

= | =

Solve

w | =

4. Show that 2 x 5 is the same as 5 * 2.

Question Number : 47 Question Id : 36496353023 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS AT 2 SR T 3 3 aTTaal o (o0 -0 ST Ui T8 o7
Options :

| AT 543 F 4 T TIHF H 14 1170

- T o6 4 T SRR AT 2@ ¥ S St T4 A
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Question Number : 48 Question Id : 36496353024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher asks her students "You have 7 hundreds and you have to take away 7 tens from it. Which number
do you get?" One of the students says "T will get 0". Which of the following statements is most appropriate with respect
fo the answer given by the student?

Options :

1. The teacher should have written the problem in the form of numerals for students to solve it.
5 The teacher should give at least ten similar problems to solve till the students solve it correctly.

The teacher should ask the students to explain the process of arriving at the answer and plan remedial strategy
3, accordingly.

4. The teacher should solve the problem on black board using the correct algorithm

Question Number : 48 Question Id : 36496353024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 36496353025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framewaork 2003, one of the main goals of mathematics education in schools is, "It is
more useful to know how to mathematize than to know a lot of mathematics". Which of the following reflects the
meaning of above statement

Options :

It is more important to know how to develop mathematical thinking and ability to handle abstractions in children than to
1. focus on how much mathematics a child knows

Mathematics education should focus on including only those topics in mathematics curriculum which are useful in daily
2. life.

3. Mathematics is useful in daily life hence solving problems in mathematics will mathematize the child's mind

It is important to know how to solve various problems in mathematics hence focus should be on including maximum
4. topics in mathematics curriculum

Question Number : 49 Question Id : 36496353025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 36496353026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

M. Govind wants to build 'pattern recognition' skill in his Grade 3 students. Which of the following activities can BEST
help?

Options :

1. Asking students to make their family tree and compare it to that of their friend’s family tree.
5 Asking students to observe the night sky and describe what they saw, in class the next day.
3, Asking students to find the national emblem of India in all their textbooks.

4. Giving building blocks and asking students to arrange them in stacks of increasing height.



Question Number : 50 Question Id : 36496353026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
oft ISR 10 4T 3 3 BT B 2 VR 1 ISTeT Taehreie ] T 2) Fefoften 0 0 - i fate

Options :
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Question Number : 51 Question Id : 36496353027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, assessment in mathematics should include
Options:

1. Ranking the students with respect to their scores

5 Progress of the students in terms of conceptual understanding and acquisition of problem solving skills

3. Testing the knowledge of procedures and formulae

4. Testing the ability of students to do error free calculations

Question Number : 51 Question Id : 36496353027 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T quﬁ @ 2005 F EREIN TIfore 5, SR o 1 WIEATeA T 00|

Options :

| AT AT 7k TTHIEhT 3 AT OF 2UTag e

5 DT T HFCIATCTSR T S HET-HATE % 1T i ST Sa 1 S
; FTATETEET SR FA1 % T 6 7

. mﬁgﬁ%ﬂ?vﬁwqwﬁrmaﬁrw

Question Number : 52 Question Id : 36496353028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Priya taught the concept of division. Which of the following is the best example of an 'authentic task' to assess
students on this?

Options :

1. What will you get when you divide 65 by 13?7
> What does division of one number by another mean? Explain using examples.
3. Distribute 100 available drawing sheets among 25 students of your class equally.

4. Make a flag for your class where one-third of the flag is blue

Question Number : 52 Question Id : 36496353028 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496353029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In middle and high school it is observed that boys perform better than girls in mathematics. Critical analysis of this
situation points out that the reason for this is that;

Options:
1. Girls have poor logico-mathematical skills

- Mathematics is not for girls

3. Girls are socialised to believe that mathematics is considered to be a ‘masculine domain' and hence it is difficult

4 Boys are naturally inclined to like numbers and mathematics

Question Number : 53 Question Id : 36496353029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

T AT oo AT (e 5 N S T (o TR § e, Tt @ See Jeu e 7| 5
TR o1 SATCT=TCReR [T S AT ST el 2 T S0 0T 21 e 2
Options :

1 AL TRAT MU Foh-Tadeh o 9 299 2t 2|

, TITOTA T 7 SRt o fofo 78 2

3 mﬁmﬁfaﬁﬁﬁﬁ%ﬁ%ﬁmwm mm%%uﬁmﬂ?ﬁ'gw\f C7)] 843 %CHH EFEFT%I

TIEFT T ASRAT Tl AT | T | =TS B 2T 2
4, R 2

Question Number : 54 Question Id : 36496353030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following preparatory activities is most suitable, before teaching the concept of multiplication?
Options:

1. Introduce the symbol of multiplication first

5 Asking students to find the number of balloons their class will have if each of them brings 5 balloons.

3 Asking students to count the number of students in their school.

4. Asking students to solve, "If you get 210 as pocket money each day, in how many days will you get 21007"

Question Number : 54 Question Id : 36496353030 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496353031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, Which of the following represents one of the most desirable
feature of a mathematics text book at primary level?

Options :
1. Concepts must be presented from abstract to concrete
o The cover page of the text book should be attractive and colourful

3. It should include mathematical problems based on formulae and algorithms

4. 1t should present the mathematical problems that are contextual and related to life experiences of children.

Question Number : 55 Question Id : 36496353031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TG W G 2005 ST, e 3 8 #7510 I s 1 0
TSR 1 U T )

Options :

: STTRUTTAT TRl mﬁﬁrr!j?ﬁ:#‘r{mgn Tora ST =rET)

, AT %Bﬂdw.@a% HATERYF TR T 2T =120
; TR AT ST FHor- T O ST O SeeTs Freaers 2T =)

¢ &
1

. T TV FHETT, ST Hed TR ST =l 3 S $%§Wﬁwﬁﬁﬂmﬁﬁmﬂﬁﬂl

Question Number : 56 Question Id : 36496353032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of geometrical thinking levels as per Van Hieles' 'theory of geometrical development
Options :

1. Visualisation--Analysis--Deduction--Relationships

> Relationships--Deduction--Analysis-Visualisation

3. Visualisation--Analysis--Relationships-Deduction

4. Analysis--Relationships--Deduction--Visualisation

Question Number : 56 Question Id : 36496353032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496353033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher asked the class to subtract 3 from 75. 70% of the class said: 25. Their work was shown as:

75
=5

2 9

Which of the following describes the most appropriate remedial action that the teacher should take to clarify this
misconception?

Options :
1. Revise the concept of place value and asking students to explain the process they have used to solve the problem
5 Revise the rule of subtraction of 1-digit umbers from 2-digit numbers that digits should be written from right to left.

3. Give more practice on simpler problems like subtracting 1-digit numbers.

4 Use a number line to explain how subtraction is done

Question Number : 57 Question Id : 36496353033 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496353034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Majority of students in a class says. 270 + 34 is equal to 270
+34

2104

Revisiting which of the following concepts will BEST remediate the misconception?

Options :
1. Addition with regrouping



5 3-digit addition
3 Forward counting

4. Place value of three digit numbers

Question Number : 58 Question Id : 36496353034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 36496353035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass V primary school teacher gives the following task to his students: "From your neighbourhood collect the number
of students studying in class IIT and V. From the information collected, classify number of boys and girls studying in
class Il and V. Include at least ten households in your project”. The above activity can be best use:

Options :



To make students sensitive towards gender differences
To introduce the concept of data handling
To develop values of community service in school students

To assess teacher's creativity for the purpose of his promotion

Question Number : 59 Question Id : 36496353035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496353036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be BEST taught using a simulation software?



Options :

1 Finding place value and face value of various numbers
5 Measuring the lengths of rectangles with various dimensions
3. Comparing the weights of different objects

4. Showing how the tenth shape in a series will change when the third shape changes.

Question Number : 60 Question Id : 36496353036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

us

TR ATREe. 31 IUANT 3 BT A cA @ o ¥ 1 el 19 T g i e €7

Options :

| Tatae SereT! #1 S 7 S il T w1 T

, S-S Tl ATt A=Al i TS /T

ot sv3211 o I &l T F
3. 2 S

T o6 ol e = e S 1 e o T ae e o v S

4

Environmental Studies

Section Id : 3649631688
Section Number : 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 30

Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 3649633064
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 36496353037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most liked food of the people of which of the following two states of our country is “Idli, Vada,

Dosa, Sambhar, Coconut chutney”?
Options:

1. Telangana, Gujarat

2. Odisha, Andhra Pradesh

3. Tamil Nadu, Andhra Pradesh

4. Goa, Kerala

Question Number : 61 Question Id : 36496353037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 36496353038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If a person travels by shortest route from Mumbai (Maharashtra) to Chandigarh (A union territory

of India) by train, the state which the train is not likely to come is
Options :

1. Haryana

2. Punjab

3. Rajasthan

4. Gujarat

Question Number : 62 Question Id : 36496353038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496353039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statement given by a girl in a group of students who gathered in a camp:

“T have come from a city which is a hilly area. At our place it rains heavily and snows as well. When

it is very cold we like to sit in sun. Our houses are made of stone or wood.”

This city must be a part of
Options :

1.Jammu and Kashmir

2. Ladakh

3. Utter Pradesh

4. Himachal Pradesh

Question Number : 63 Question Id : 36496353039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e o T et ATt 6 38 0 O ot TSI, 1 967 ot o 9 0 el 9 & 1
ﬁwmamwmm@mﬁmaﬂwwﬁ%ma&sﬁaﬁamﬂm@mmﬂ
SIGk mmmﬂmwmmﬂwmwmmmmmﬁl
mmwm%&wwﬁ?ﬂ%ﬂ.—

Options :

S FIHR

1.

2. TETE

3 I UET



4. TemT=e e

Question Number : 64 Question Id : 36496353040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between New Delhi railway station and Kanpur railway station is 432 km. A train
starting on 18.12.2021 at 23.45 Hrs from New Delhi railway station reaches New Delhi railway

station on 19.12.2021 at 07.45 Hrs. The average speed of the train during journey is
Options :
1.10 m/s
2.15m/s
3.27 m/s

4,54 m/s

Question Number : 64 Question Id : 36496353040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 10 m/s
2 15 m/s

3. 27 m/s

4. 3 m/s



Question Number : 65 Question Id : 36496353041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a group of two animals where front teeth keep growing throughout their

life, so they have to keep gnauring on things to keep their teeth from becoming too long.
Options :

1. Lizard and squirrel

2. Lizard and turtle

3. Rat and squirrel

4. Snake and squirrel

Question Number : 65 Question Id : 36496353041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496353042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kannauj is a district which is famous throughout India for its itra. This district is a part of



Options :

1. Haryana

2. Uttrakhand
3. Bihar

4. Uttar Pradesh

Question Number : 66 Question Id : 36496353042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496353043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sand dunes are found in

Options:

1. Afghanistan, England

2. Uzbekistan, Bangladesh

3. Berlin, Rajasthan

4. Abu Dhabi, Afghanistan



Question Number : 67 Question Id : 36496353043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496353044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhopal is due north of Bangalore and Gandhi Nagar is due west of Bhopal. The direction of

Bangalore with respect to Gandhi Nagar is
Options :

1. North-West

2. South-West

3. South-East

4. North-East

Question Number : 68 Question Id : 36496353044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496353045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select correct statement from the following about Bronze.
Options:

1. It is an alloy of tin and zinc.

2.1t is a compound.

3.Itis an alloy of Copper and tin.

4. It is a homogenous mixture of Copper and zinc.

Question Number : 69 Question Id : 36496353045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496353046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a match which does not provide the correct way of preservation of the

corresponding food item.
Options :

1. Apple - Jam

2. Milk - Paneer

3. Raw Mango - Pickle

4. Dal - Papad

Question Number : 70 Question Id : 36496353046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496353047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which part of our country the big cone shaped tents used for living are known as ‘Rebo’ and the

place in which animals are kept are called ‘Lekha™?
Options :

1. Arunachal Pradesh

2. Meghalaya

3. Jammu and Kashmir

4. Leh and Ladakh

Question Number : 71 Question Id : 36496353047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 36496353048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In our country there are
Options:

1. 6 union territories
2.7 union territories

3. 8 union territories

4.9 union territories

Question Number : 72 Question Id : 36496353048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 73 Question Id : 36496353049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select from the following a group of three states all having their coasts on the Arabian Sea.
Options:

1. Kerala, Karnataka, Maharshtra

2. Gujarat, Maharshtra, Tamil Nadu

3. Andhra Pradesh, Gujarat, Telangana

4. Kerala, Karnataka, Odisha



Question Number : 73 Question Id : 36496353049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496353050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Chhau” is the folk dance form of the common people of
Options :

1. Uttar Pradesh

2. Assam

3. Chhattisgarh

4. Mizoram

Question Number : 74 Question Id : 36496353050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496353051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about the earthworms:

A. Earthworm make tunnels in the fields which provide easy passage to air and water into the soil.
B. Earthworms soften the soil by digging underneath.

C. Earthworms save the main crops from weeds.

D. The droppings of the earthworms fertilise the soil.

The true statements are
Options :

1.Aand B

2.A,Band C

3.A,Cand D

4. A,Band D

Question Number : 75 Question Id : 36496353051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496353052 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The advantages of teaching EVS in blended/hybrid learning mode are
A. Students can join online class from anywhere.

B. Students get to interact with teacher and peers face to face.

C. Students are not required to be attentive during the classes.

D. Students are able to supplement their online learning with related activities at

home/community.



Choose the correct option.
Options:

1.A,Band C

2.A,Cand D

3.A,BandD

4.A,B,CandD

Question Number : 76 Question Id : 36496353052 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496353053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a feature of synchronous online teaching of EVS through video



conferencing apps?

Options:

1. Students are able to join the class any time.

2. Teachers and students are able to converse in real time.
3. Students get the content of online class anytime they join.

4. Teacher is able to share content any time of the day which student can access any time.

Question Number : 77 Question Id : 36496353053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496353054 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swati, an EVS teacher of class IV shows a video of a wide variety of plants such as grass, bamboo,
rose, banana, palm tree and discusses about sizes of the plants with leaves, stem and flowers in all
the plants with her students. Most appropriate objective in this activity is to draw attention of

students to

Options :



1. parts of plants.
2. differentiate between ‘plants’ and ‘trees’.
3. observe variation present within the category of plants.

4. the importance of plants to human beings.

Question Number : 78 Question Id : 36496353054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496353055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While teaching theme ‘Food’, Rita, an EVS teacher, asks her class V students to conduct survey
about different ways in which food preservation methods are followed in different neighbouring

households. The most appropriate objectives of this survey will be

A. to make students sensitive towards different people.



B. to assess students' competence in conducting survey.
C. to provide an opportunity to collect first hand information from community.
D. to provide an opportunity to interact with community.

Choose the correct option.
Options :

1.A,Band C

2.A,Cand D

3.AandB

4. Aand C

Question Number : 79 Question Id : 36496353055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496353056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of these are objectives of teaching EVS at primary stage according to the present

curriculum?

A. To train students to locate and comprehend relationships between the natural social and

cultural environments.

B. To develop an awareness about environmental issues in students.

C. To develop an understanding of the earth as the habitat for humankind and other forms of life.

D. To understand the various pedagogy of EVS.

Choose the correct option.
Options:

1. Aonly

2.Aand B

3.A,Cand D

4.B,Cand D

Question Number : 80 Question Id : 36496353056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496353057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An EVS teacher should keep in mind the following criteria to make groups for conducting an
activity -

Options :

1. Make grouping according to their cognitive level

2. Make grouping according to gender (separate group for girls and boys)

3. Make as many groups as possible from the whole class

4. Make groups based on cooperation and participation among groups

Question Number : 81 Question Id : 36496353057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
e 21T R o T ST 0 3 oA T G 3 T, o A 2t ST g e
Options :

ST WETHTCH & o SATA TRl )|
1.

, T 3 AT U (ST U3 TRl F1 To7 9 T 0 1

X uﬁm&mﬁ%%ﬁ%m@wﬁwﬁl

. mﬁ%aﬁamlmm TS TIHTRT %aﬂwv{m@m|

Question Number : 82 Question Id : 36496353058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The nature of EVS curriculum at the primary level is

Options :

1. inclusive, contextual, thematic

2. integrated and experiential

3. contextual, disciplinary, follows an environmental approach

4. single subject, global to local, inclusive

Question Number : 82 Question Id : 36496353058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496353059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While choosing stories to introduce EVS concepts, a teacher needs to keep the following points in

mind.
A. Stories should not create any misconception about any concept.

B. Stories should not portray any stereotype related to gender, caste, religion and other social

groups.
C. Stories should be enjoyable and entertaining.
D. Stories should be such that students can relate to them.

Choose the correct option.
Options:

1.A,B,C

2.B,C,D

3.A,Band D

4.A,Cand D

Question Number : 83 Question Id : 36496353059 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496353060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher will ask her students to do which of the following activities to inculcate mapping

skills in them?

A. Locating cardinal directions on a map
B. Drawing unscaled maps

C. Using symbols for self-drawn maps

D. Using standardized universal symbols to interpret a map



Choose the correct option.
Options :

1.Aand D

2.Band C

3. D only

4.A,B,CandD

Question Number : 84 Question Id : 36496353060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496353061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An EVS teacher points out during a discussion that people of Rajasthan villages built their homes
from locally available materials while people in cities like Mumbai buy materials like cement,
bricks, glass and tiles to build houses. The learning outcome (s) for assessment of this discussion
is/are

Options :

1. Observation and recording

2. Analysis

3. Experimentation

4. Comparing and Analysis

Question Number : 85 Question Id : 36496353061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496353062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS teacher wants her students to find out the various everyday activities of people that



contribute to the wastage of water. Which of the following is the most appropriate srategy for this
purpose?

Options :

1. Documentary and films related to water issues

2. Visit to a “nallah (water drain)

3. Interaction with families in the neighbourhood

4, Estimation of the quantity of water used by a family per day

Question Number : 86 Question Id : 36496353062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496353063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an integral component of environmental education at the primary level?
Options:

1. Textbooks



2. Children's environment
3. Linguistic proficiency

4. Role play

Question Number : 87 Question Id : 36496353063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496353064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an EVS teacher, which criteria will you consider to be most important in selecting a textbook for

students of primary classes?
A. The textbook should not have any stereotypes related to gender, caste, class and religion.
B. The language in the textbook should be a standard language.

C. The textbook should be cheaply priced and thin.



D. The textbook should be illustrated and visually appealing.

Choose the correct option.
Options :
1.Aand D
2.Band C
3.Aand C

4.Band D

Question Number : 88 Question Id : 36496353064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496353065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following resources will be most appropriate to teach gender stereotypes to students

of class V?

Options :

1. Survey in households to find out wok allocation among members
2. Newspapers with stories on gender empowerment

3. Stories about successful women

4. Field trips to hospitals to find out number of female health professionals

Question Number : 89 Question Id : 36496353065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496353066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an EVS teacher, you have to give details of your students' level and proficiency in process skills

in his report card. Which reporting method will be most appropriate?
Options :
1. Narrative report

2. Grades in letters



3. Rating scales

4. Grading in numbers

Question Number : 90 Question Id : 36496353066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Id : 3649633065

Question Shuffling Allowed : Yes

Question Id : 36496353067 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 36496353068 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 92 Question Id : 36496353069 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 36496353070 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 36496353071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 36496353072 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 36496353073 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 36496353070 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 36496353074 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 36496353075 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 36496353076 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0
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Sub questions

Question Number : 100 Question Id : 36496353078 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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: Yes Group Comprehension Questions : No
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Options :

| ]



1.1
2.2
3.3

4.4

Question Number : 112 Question Id : 36496353090 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AT V111 61 T oA VT 1 00 U oA 7 5 60 5 9 S| o el e (e 1
g 5 e v
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Options :

1.1
2.2
3.3

4.4

Question Number : 113 Question Id : 36496353091 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1

2.2



3.3
4.4

Question Number : 113 Question Id : 36496353091 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496353092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 114 Question Id : 36496353092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496353093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496353093 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496353094 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496353094 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. 9T9T T 999 5 T 3 2

0. T A & U e s T e

3. ST =TT T HereaATAl 6l Tohe FE o (oA, TS 3T 1T 2 ©
4. TI9T W S I o Weaes (Frartdm) o o amer = v=m e ©

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496353095 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496353095 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496353096 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496353096 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496353097 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496353097 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496353098 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496353098 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
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Language II

Section Id : 3649631690
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649633068
Question Shuffling Allowed : Yes

Question Id : 36496353099 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Read the passage given below and answer the
questions/complete the statements that follow by choosing the
best options from the given ones.

1) The voice had to be listened to, not only on account of its
form but for the matter which it delivered. It gave a
message to the country that it needed greatly. It brought
to the common people a realisation of their duty to
concern with their affairs. The common people were
made to take an interest in the manner in which they were
governed, in the taxes they paid, in the return they got
from these taxes. The interest in public affairs (politics)
was to be the concern no longer only of the highly
educated few but of the many-the poor, the property-less.
the working men in the town and the country. Politics
was not to be the concern of a small aristocracy of
intellect or property but of the masses.

2) The improvement, especially in the lives of the people of
the neglected villagers was to be placed before the
government and political organisations as the goal of all
political endeavour. Raising the standards of living of the
people of the villages, the finding of subsidiary
occupations which would give them enforced leisure
during the off-season and an addition to their small
income, the improvement of the housing of the poor, the
sanitation of the villages-to be the objectives to keep in
View.

3) In the towns, there was especially a class of the poor for
which compassionate voice pleaded and protested. This
was the so called depressed classes, the outcasts of the
Hindu society. The denial of the elementary human rights
to this class was considered the greatest blot on Hindu
society and history. It raised its passionate protest
against the age-old wrongs of this class and forced those
that listened to it to endeavour to remove the most
outrageous of them e.g. untouchability. It caused a
revolution in Hindu religious practice by having Hindu
temples thrown open to these people.

Sub questions

Question Number : 121 Question Id : 36496353100 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The people listened to the ‘voice’ because of its

1) strength

2) power

3) subject matter
4) vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496353101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

...... was to be placed before the......(para 2)
The underlined expression means:

1) represented

2) given importance
3) prioritised

4) presented

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496353102 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why was it considered necessary that common people take
an interest in tax structure?

1) to understand how their taxes were utilised.
2) to improve the political scene of the country.
3) to improve their standard of living.

4) to provide them with better employment

opportunities.
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496353103 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘depressed class’ comprised people who were suffering
from:

1) psychological problems

2) poverty

3) denial of fundamental rights
4) poor sanitary conditions

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496353104 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following improvements were not one of the
goals set?

1) to raise the standard of living of the poor.

2) to provide luxurious houses to the poor.

3) to provide subsidiary occupations to the poor.
4) to remove untouchability.

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496353105 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Masses (para 1) comprised people who were

1) very rich

2) rich

3) politicians
4) common men

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496353106 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In ‘subsidiary occupation’ the underlined is used as a/an

1) verb

2) adverb
3) noun

4) adjective



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496353107 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘endeavour’ in para 3 means the same as

1) preaching
2) effort

3) principle
4) strategy

Options :
1.1
2.2
3.3
4.4

Question Id : 36496353099 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Read the passage given below and answer the
questions/complete the statements that follow by choosing the
best options from the given ones.

1) The voice had to be listened to, not only on account of its
form but for the matter which it delivered. It gave a
message to the country that it needed greatly. It brought
to the common people a realisation of their duty to
concern with their affairs. The common people were
made to take an interest in the manner in which they were
governed, in the taxes they paid, in the return they got
from these taxes. The interest in public affairs (politics)
was to be the concern no longer only of the highly
educated few but of the many-the poor, the property-less.
the working men in the town and the country. Politics
was not to be the concern of a small aristocracy of
intellect or property but of the masses.

2) The improvement, especially in the lives of the people of
the neglected villagers was to be placed before the
government and political organisations as the goal of all
political endeavour. Raising the standards of living of the
people of the villages, the finding of subsidiary
occupations which would give them enforced leisure
during the off-season and an addition to their small
income, the improvement of the housing of the poor, the
sanitation of the villages-to be the objectives to keep in
View.

3) In the towns, there was especially a class of the poor for
which compassionate voice pleaded and protested. This
was the so called depressed classes, the outcasts of the
Hindu society. The denial of the elementary human rights
to this class was considered the greatest blot on Hindu
society and history. It raised its passionate protest
against the age-old wrongs of this class and forced those
that listened to it to endeavour to remove the most
outrageous of them e.g. untouchability. It caused a
revolution in Hindu religious practice by having Hindu
temples thrown open to these people.

Sub questions

Question Number : 121 Question Id : 36496353100 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The people listened to the ‘voice’ because of its

1) strength

2) power

3) subject matter
4) vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496353101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

...... was to be placed before the......(para 2)
The underlined expression means:

1) represented

2) given importance
3) prioritised

4) presented

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496353102 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why was it considered necessary that common people take
an interest in tax structure?

1) to understand how their taxes were utilised.
2) to improve the political scene of the country.
3) to improve their standard of living.

4) to provide them with better employment

opportunities.
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496353103 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘depressed class’ comprised people who were suffering
from:

1) psychological problems

2) poverty

3) denial of fundamental rights
4) poor sanitary conditions

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496353104 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following improvements were not one of the
goals set?

1) to raise the standard of living of the poor.

2) to provide luxurious houses to the poor.

3) to provide subsidiary occupations to the poor.
4) to remove untouchability.

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496353105 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Masses (para 1) comprised people who were

1) very rich

2) rich

3) politicians
4) common men

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496353106 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In ‘subsidiary occupation’ the underlined is used as a/an

1) verb

2) adverb
3) noun

4) adjective



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496353107 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘endeavour’ in para 3 means the same as

1) preaching
2) effort

3) principle
4) strategy

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 3649633069

Question Shuffling Allowed : Yes

Question Id : 36496353108 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the
questions/complete the statements that follow by choosing the
best option from the given ones.

1) In India, as in other parts of the world, the population is
unevenly distributed. The concentration of population is
the highest in the northern plains, particularly in the
Ganga plain. The coastal plains too, are densely
populated. The plains are agriculturally the most
productive regions. In addition, they have got network of
roads and railways. Many large towns and cities that are
commercially and industrially important have come up in
these regions. All these factors have contributed to the
high concentration of population in the plains.

2) The hilly areas like Jammu and Kashmir and the north
eastern states are thinly populated. These areas are
economically less developed, mainly because there is
difficulty of developing rail and road links through the
mountain terrain. The desert regions of Rajasthan and
Gujarat also have sparse population. Among the states
and Union territories of India, population is maximum in
Uttar Pradesh, while the Union Territory of Lakshadweep
is the least populous.

3) Changes in the size of population depend mostly on the
birth rate and death rate. The number of live berths per
thousand people in a year is called the birth rate, while
the number of deaths in a year is called the death rate.
The difference between these two gives the natural
increase, which is the main factor responsible for
population growth. India is the second most populous
country, China being the first with having 17.2% of the
world population. Together China and India, according to
a survey in 2008, account for 60% of the world
population.

Sub questions

Question Number : 129 Question Id : 36496353109 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct.

1) The northem plains are densely populated because of
the Ganga river which is considered to be holy.

2) There is a good network of roads and railways.

3) There is no pollution as there are no industries.

4) There is little agricultural activity in the area.

Options :



1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496353110 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) There is difference in the density of population
among different states and Union territories of India.
(b)Only increased scale of birth rates is responsible for
the population growth in coastal areas.
(c) Uneven population distribution is a unique feature of
India.

1) (a) and (b) are true but (c) is false.
2) (a) and (b) are false but (¢) is true.
3) Only (a) is true.
4) Oanly (b) is true.

Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496353111 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reason for lower economic development in hilly
regions is

1) less concentration of population.

2) Increased incidents of land sliding.

3) Less developed roads and rail links.
4) Tourism as the only source of income.

Options :



1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496353112 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to a survey done in 2008, India and China
together account for population of the world.

1) Three fifths
2} One fifth
3) Four fifths
4) Two fifths

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496353113 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘because there is difficulty of developing rail’. Which of the
following clauses is used here?

1) adverb
2) adjective
3) principal
4) noun

Options :
1.1
2.2
3.3



4.4

Question Number : 134 Question Id : 36496353114 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

network of roads (para 1) the underlined word is a/an

1) verb
2) adjective
3) noun
4) pronoun

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496353115 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In densely populated, the underlined word means the same
as:

1) thinly
2) thickly
3) mostly
4) lively

Options :
1.1
2.2
3.3
4.4

Question Id : 36496353108 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No



Question Numbers : (129 to 135)
Question Label : Comprehension

Read the passage given below and answer the
questions/complete the statements that follow by choosing the
best option from the given ones.

1) In India, as in other parts of the world, the population is
unevenly distributed. The concentration of population is
the highest in the northern plains, particularly in the
Ganga plain. The coastal plains too, are densely
populated. The plains are agriculturally the most
productive regions. In addition, they have got network of
roads and railways. Many large towns and cities that are
commercially and industrially important have come up in
these regions. All these factors have contributed to the
high concentration of population in the plains.

2) The hilly areas like Jammu and Kashmir and the north
eastern states are thinly populated. These areas are
economically less developed, mainly because there is
difficulty of developing rail and road links through the
mountain terrain. The desert regions of Rajasthan and
Gujarat also have sparse population. Among the states
and Union territories of India, population is maximum in
Uttar Pradesh, while the Union Territory of Lakshadweep
is the least populous.

3) Changes in the size of population depend mostly on the
birth rate and death rate. The number of live berths per
thousand people in a year is called the birth rate, while
the number of deaths in a year is called the death rate.
The difference between these two gives the natural
increase, which is the main factor responsible for
population growth. India is the second most populous
country, China being the first with having 17.2% of the
world population. Together China and India, according to
a survey in 2008, account for 60% of the world
population.

Sub questions

Question Number : 129 Question Id : 36496353109 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is correct.

1) The northern plains are densely populated because of
the Ganga river which is considered to be holy.

2) There is a good network of roads and railways.

3) There is no pollution as there are no industries.

4) There is little agricultural activity in the area.

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496353110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) There is difference in the density of population
among different states and Union territories of India.
(b)Only increased scale of birth rates is responsible for
the population growth in coastal areas.
(¢) Uneven population distribution is a unique feature of
India.

1) (a) and (b) are true but (c¢) is false.
2) (a) and (b) are false but (c) is true.
3) Oanly (a) is true.
4) Oanly (b) is true.

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496353111 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The reason for lower economic development in hilly
regions is

1) less concentration of population.

2) Increased incidents of land sliding.

3) Less developed roads and rail links.
4) Tourism as the only source of income.

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496353112 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to a survey done in 2008, India and China
together account for population of the world.

1) Three fifths
2) One fifth
3) Four fifths
4) Two fifths

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496353113 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘because there is difficulty of developing rail’. Which of the
following clauses is used here?

1) adverb
2) adjective
3) principal
4) noun

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496353114 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

network of roads (para 1) the underlined word is a/an

1) verb
2) adjective
3) noun
4) pronoun

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496353115 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In densely populated, the underlined word means the same
as:

1) thinly
2) thickly
3) mostly
4) lively

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633070

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496353116 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is defined as social dialect?

Speech characteristics of a language of a community or group of people.
Language of a state or country or a continent.

Speech characteristics of a language of a region with in a language.

The written language and literature of a region.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496353116 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is defined as social dialect?

Speech characteristics of a language of a community or group of people.
Language of a state or country or a continent.

Speech characteristics of a language of a region with in a language.

The written language and literature of a region.

W

o

Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 36496353117 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sign Language is

a natural language with a grammar.

is not a natural language

a natural language without a grammar.
a set of gestures for deaf community.

W -

e

Options :
1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 36496353117 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sign Language is

a natural language with a grammar.

is not a natural language

a natural language without a grammar.
a set of gestures for deaf community.

W -

e



Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496353118 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People who know many languages are known as

Polyglots

Poly linguists
Multi speakers
Monolinguals

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496353118 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

People who know many languages are known as

Polyglots

Poly linguists
Multi speakers
Monolinguals

P g

e

Options :
1.1
2.2
3.3



4.4

Question Number : 139 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 36496353119 Question Type : MCQ Option Shuffling : No

A child begins her schooling in her mother tongue and moves on to add many more languages by the time she
completes her high school. What is this language-education strategy known as?

1. Mother tongue first policy

2. Three language formula as language policy
3. Mother tongue based multilingualism

4. New Education Policy for languages

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 36496353119 Question Type : MCQ Option Shuffling : No

A child begins her schooling in her mother tongue and moves on to add many more languages by the time she
completes her high school. What is this language-education strategy known as?

. Mother tongue first policy

Three language formula as language policy
. Mother tongue based multilingualism

. New Education Policy for languages

= o b —

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id

: 36496353120 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Engagement with language’ means

teachers work with learners
learners work in language for purposes
learners and teacher work together on rules of grammar.

W -

4. learners try and learn phonetic rules of language.
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496353120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Engagement with language’ means

teachers work with learners
learners work in language for purposes
learners and teacher work together on rules of grammar.

W =

4. learners try and learn phonetic rules of language.
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496353121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



This makes the learners use language for purposes?

An authentic task

An exercise

A memorization part of the poem
Decoding of the text

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496353121 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This makes the learners use language for purposes?

An authentic task

An exercise

A memorization part of the poem
Decoding of the text

Shlerud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496353122 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shruthi reads a magazine to find a specific information about the event reported. What is her reading known as?

. Skimming

. Reading for purpose
. Reading for pleasure
. Scanning

Il D =



Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496353122 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shruthi reads a magazine to find a specific information about the event reported. What is her reading known as?

. Skimming

. Reading for purpose
. Reading for pleasure
. Scanning

Il D =

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496353123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Words which we use in writing and speaking are

passive vocabulary
vocabulary in use
active vocabulary
vocabulary for purposes

P g

e

Options :
1.1
2.2
3.3



4.4

Question Number : 143 Question Id : 36496353123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Words which we use in writing and speaking are

passive vocabulary
vocabulary in use
active vocabulary
vocabulary for purposes

e v

s

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496353124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is for promoting Cognitively Academic Language Proficiency (CALP)?

. Writing one’s diary at the end of the day on one’s birthday.

. Writing an article for a newspaper on the impact of climate change on people’s lives.

. Speaking with classmates on one’s tour to an amusement park located in the nearby city.
. Reading a menu in a restaurant for ordering food for oneself.

[ U N .

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496353124 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is for promoting Cognitively Academic Language Proficiency (CALP)?

1. Writing one’s diary at the end of the day on one’s birthday.

2. Writing an article for a newspaper on the impact of climate change on people’s lives,

3. Speaking with classmates on one’s tour to an amusement park located in the nearby city.
4. Reading a menu in a restaurant for ordering food for oneself.

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496353125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why do you consider the ‘Process Approach’ to writing as ideal for learners to learn to write a good piece of writing?

. Process Approach enables learners to write like an extempore speaker without any preparation.

. Process Approach is like a one-time product in order to test the skills of writing.

. Process Approach is testing the higher order language skills of learner as they write.

. Process Approaches enables learners to undergo various stages to develop a good piece of writing.

P L b

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496353125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Why do you consider the ‘Process Approach’ to writing as ideal for learners to learn to write a good piece of writing?

. Process Approach enables learners to write like an extempore speaker without any preparation.

. Process Approach is like a one-time product in order to test the skills of writing.

. Process Approach is testing the higher order language skills of learner as they write.

. Process Approaches enables learners to undergo various stages to develop a good piece of writing.

P L b

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496353126 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an output based task for language learning?

L earners read a news item on a political issue.

Learners work in group to gather ideas for writing a paragraph.
Learners think aloud describing a process in a sequence of pictures.
Learners write an article for a newspaper adopting process approach.

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496353126 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an output based task for language learning?

Learners read a news item on a political issue.

Learners work in group to gather ideas for writing a paragraph.

I earners think aloud describing a process in a sequence of pictures.
Learners write an article for a newspaper adopting process approach.

s vl

e



Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 36496353127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding teaching grammar lesson is incorrect?

Using texts as a source of teaching points,

Using examples of incorrect student language during a speaking task.
Using pictures to visualize words and structures.

Using sentences that are examples of the teaching point.

B 1

i

Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 36496353127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding teaching grammar lesson is incorrect?

Using texts as a source of teaching points.

Using examples of incorrect student language during a speaking task.
Using pictures to visualize words and structures.

Using sentences that are examples of the teaching point.

B

e

Options :
1.1
2.2

3.3



4.4

Question Number : 148 Question Id : 36496353128 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of language?

Every language has a script.

Script is not essential for a language.
Every language has a grammar
Language is primarily spoken.
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Options:
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496353128 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of language?

Every language has a script.

Script is not essential for a language.
Every language has a grammar
Language is primarily spoken.

el v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496353129 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A language learning and testing task which drops a word after every sixth word in a text is known as

1. Dictation task

2. Cloze

3. Grammar internalization task
4. Fill in the blanks

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496353129 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A language learning and testing task which drops a word after every sixth word in a text is known as

1. Dictation task

2. Cloze

3. Grammar internalization task
4. Fill in the blanks

Options:
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496353130 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is an *assessment as learning” tasks?

1. Project work and assignments
2. Weekly tests and monthly tests
3. Formative / term end tests

Summative tests at the end of the vear

e

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496353130 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an ‘assessment as learning” tasks?

Project work and assignments
Weekly tests and monthly tests
Formative / term end tests

Summative tests at the end of the year

P g

e

Options :
1.1
2.2
3.3
4.4



